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Count,

Count, how many balloons the man is ho|c|ing. Count in groups to
our answer in the block

he|P you. Write y
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Count,

Count, how many blocks you see and write your answer in the blocks.
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Complete the table \

Numloer‘ name

Numloer‘ SH mbo|

Three hundred and or‘tt.j four

500

Two hundred and thir‘tﬂ two

453

261

k Thousand

\2

Mat.ch the number names with the number Smeo|s. Use a ruler

to draw a line.

One hundred
and twentﬂ

two

FOUI“ hundr‘ed

and sevent3

nine

TWO hundr‘ed

Three hundred and eight,H
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" Double and half

[ | | |

Double the f o||owin9 numbers. Divide the numbers in half.
20 38
22 50
40 100

PREDICT

Predict how many sweets

there are in each bdg.
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Answer the f o||owin3 cluestions about, the students stqncling in

the line. Start with the teacher as the stqr‘ting Point.

DGVG Anne

. Whois first in line?
2. Who is second in line?
3. Where is Charles in the line?
k. Who'is last in the line?

5. How many children are there in the line?

6. Colour the fifth student in the line 3e||ow.




Fill in your own numbers.

LN L JT T T T ITIT T T I TITIT7T 1

is | more than

is | less than

is [0 more than

is [0 less than

is 2 more than

is 2 less than

is 3 more than

is 3 less than

(

\

Colour in the correct. answer.

(

232 is

\

323

-

99 is £89
greqter than
less than
ec1,uc1| to
J
500 is 500\

3reqter than

less than

ec1,uc1| to

J

(

[ \ greater than
I8 is 18I less than
ecluq| to
greater‘ than
less than k j
ec1,uc1| to
GO is AOO +D
8r‘eater‘ than
\ less than
3l is 3|0 equc| to

8r~eqter~ than

less than

ec],uq| to

\_




ADD IND SUBTRACT

ComP|ete the table b3 qdding or subtr‘qcting

Number +2 -2 +/,
488
322
219

500

ORDER NUMBERS

Ny ./ Order the numbers in the
[*_/ S balloons f'rom Sr‘eqtest t0 least.

B\ 500

499 /l a%

\J

490
7

Order the numbers in the

balloons ' rom least to Sr‘eqtest.
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Write the P|qce value oF

the underlined numbers.

GPOUPS O'F 2

| group of 2is __

2 groups of 2is __

3 groups of 2is
A groups of 2is __
5 groups of 2is __

GROUPS

GI"OUPS O'F 3

/f’(ﬁ—\ ’\
3000

| group of 3is __

2 groups of 3is __
3 groups of 3is __
4 groups of 3is __
5 groups of 2is __

Ly

G I"OUIDS O'F A

| gr‘oupof\ A is
2 groups of Lis__
3 groups of A is
A groups of’ 4 s
5 groups of A s




FUN WITH SUMS

///////%

Adding three-digit numbers by \ (Adding of two three-digit numbers
by breaking up both numbers

breaking up both numbers

Examp|e:

7

ExamP|e:
52, +82=]
=500 +20+ L) +(@80+2) 323+ 436 =
=500 + (20 + 80+ ([ + 2) =(300 + 20 + 3) + (/00 + 30 + 6)

= (500 +100) + 6 = (300 + 400) + (20 + 30) + (3 + 6)

=700 +50 +9

= 600 + 6
= 606 )\ =7

4

% A
524 + 23 [52 + 232
25 + I 125 + I£4
5+ 33|
3/5+33 bo+
4

A2/ ///!)'dct? 24444/



o,

A

Subtracting by breaking up both\ (Subtracting by breaking up one
numbers number
Examp|e: Exqule;
889 - 137 = ]
= (800 + 80 + 9) - (100 + 30 + 7) 889 -137 =[]
= (800 - 100) + (80 - 30) + (9 - 7 889 -(00 +30+7)
=700 + 50 + 2 889-100 789-30 759-7
=752 j ( 752
% A %
652 - 12| 652 - 12|
325 -2l 325 -2l
35-33
435 - 33/ 4 ¢

A2/ ///!)'dct? 24444/



442 + 26
55l + 312

642 + 32

He|P the bees to do the sums.

325 + 23/,

843 + 124
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More CIhCI |ess

| less than 500 ___ 5less than 45 T less than 189

L more than /00 5morethan 254 7 more than 372 ____
5less than 786 lless than 200 5less than 256 ___
10 more than 68 __ | more than 324 2 more than 358 ____
|0 less than 68 0 less than 545 3less than 437
2 more than 26 _ 2 more than 88 5 more than 285
2 less than 140 2 less than 38 2 less than 224 I

Fractions

Colour in the fractions.




Fractions

. Divide 7 blocks of chocolate between three friends so that each friend

receives the same amount.

. Divide 5 cupches between 2 friends so that each friend receives the same

amount, of cupcql(es.

3. Grandmother 8ives Anne RI2. Anne wants to save a third of the money.
How much of the RI2 will she save?

A. There is |2 cookies on the P|qte. Mom eats a q,uar‘ter‘ of the cookies. How

mcn3 coo|<ies are |e'Ft7

-
I
I
I
l
I
I
I
l
I
I
I
l
I
I
I
l




'
R l

FRACTIONS

Colour in the circles qccor‘cling to the fractions.

Write the f o||owin3 words in fractions.

. Two thirds:

2. Three q{uqrter‘sz _
3. Quarter: __
LoHalf:




Mu‘tip‘icqtion

Comp|ete the tables and answer the questions.

I 2 | 3| L | 5| 6|1

. What Pqtter‘n do You see at. the 5 times row?

2. What Potter‘n do you see at. the |10 times row?

3. What Pqtter‘n do You see at. the 2 times row?

A. What Patter*n do you see at the A times row?




| COUNT ! B

ComP|ete the cliogr‘oms bH counting backward or forward.




/Fun with PATTERNS

3 Eqund the Pqtter‘ns b&j clr‘owing one more setl.

TO0OAA OOOAA

vAg Ag
< > >
b. Pv“j\> @ 7 j\>

VvA¢

2. Draw your own Pqtter‘n bﬂ using the 3 obJects below. Your
Pqtter‘n must r‘epeqt 3 times

(e

3. ComP|ete the Pqttern.

OlSa @IS
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MAPS

Look at. the map of the citH and then follow the instructions.

Pqpk u

N8

Wi|9er Street

E?;\ N

Boekenhout
crescent

i,

SUPERMARKEI

Gumtree Street

Geelhout Street

-% Libr‘ar‘ﬂ

V|ombgom Street

School  J

. £ | U D Q
Dave's house

|. COlOUI" the SCl’]OOl or‘onge.

2. Colour the super‘mor‘ket He"ow.
3. Colour the |ibr‘qr‘3 blue.
L. Colour Mqr‘g's house red.

5. Colour the two Pcrks green.

6. COlOUI" DOVG'S hOUSG PUI“Ple.




The front view of the Piqno is shown below. Name the t0|o

view and side view of the other two Pictures in the blocks.

Draw the toP view and side view
of the house.

toP view \ / side view \




Colour the shqpes:
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square U}{D) triangle B{
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the correct answer.

round round
str‘qig ht str‘qig ht

round round
straig ht straig ht

Draw the shopes in the blocks.

Does the f o||owin9 shopes have round or str‘qight sides? Colour in

POUhd

str‘qig ht

,—B I ;
1
e

N
~
J
~J

POUhd

str‘qig ht

square circle

tr‘iqn3|e

offo nro orurorornrnlnIoIoIoIoIoIoIoIoIo‘Io‘Io‘Io‘Io

ofo ororororololu o
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3D SUARES

Write the names of the shqpes.

4 N\ [/ N\
\_ J \- )
4 N\ [/

,

e Colour the shcpes red that ROLL.
e Colour the shapes blue that SLIDE.

( Oi
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DOGS the 'FO"OWihg sthes hqve a CUI"‘VGd or 'Fth SUI""FCICGS? COlOUI"‘

in the correct answer.

7

curved curved curved
tlat tlat flat,
N /7/
N— Ne—
—_—
N— N—
curved curved curved
tlat tlat tlat

What is the shope of the flat sides of the obJ’ect?
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two o clock

TOOUI’\ OlC

OCL<

ﬁve O'C|OCk




What is the time?




Half” post one

Half past SIX

Half post eleven




E What, is the time”? }
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delelelelelelelelel Match the timel e

.

Draw a line from the clock to the correct time.

Quarter qut eleven

Quarter pqst seven

Quarter qut twelve

Quarter Pcst two

Quarter Pcst flive
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| ENGTH -

. What is the |en3th of the Penci| in cm? C]

1))
SRR LY L L LY LR L UL AL Rk L L EA) E L L WL L L L

1 2 3 4 5 6 7 8 9

2. What is the |en8’cn of the Penci| in cm?C]

< ——))))

1 2 3 4 5 6 7 8 9

3. What is the |en3tl'\ of the eraser in cmD

erdaser

1 2 3 4 5 6 7 8 9

What is the |en3t'\ of the eraser in cm?C]

eraser

6 7 8
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MASS

ook at. the Pictur‘es and order them from the heaviest. to the

|ightest in the table.

@tennis ball 3
\
N

Y

fi

it tiP? Color the r‘igl‘\t answer.
/
L

brick

@ |<er‘ne|

I'F we hove a stone Ghd a bd" P|qced on a l:cﬂcmce sco|e. TO Wthh

side will i
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Vo‘ume

Ar‘r‘qnge the volumes of the containers from the least to the

most. e o
S e
p— Pone
& @ 7 gy
. Uep ; p
= L ~
container |  container 2 container 3 container A
.
2.
3.
.

Ar‘r‘ange the volumes of the containers from the most to the

least..

(7 _;:‘
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container |  container 2 container 3 container
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Answer the questions below:

’ 3, |l ‘
/CM‘ T/
“&JD
/@7‘&. r(
‘&JJ f>
ﬁ?@ V
“&ﬂf
/{M, }/ /CM‘ T/
‘<xyf ”iéﬁf
KM. r/ /{M.Lr/ /{M. r/
‘&// /> ‘&JJ f> v<\ J/ />
KM. r/ /{M.Lr/ /{M. r/
‘&// /> “‘<\1/ f> v<\ J/ />
/@7‘{% TJ /(M,LT/ /(M, T/ /{M, T/
“d/ y “&Jj f> “&J y “&Jj f>
/@?‘{f, TJ /@?‘{g, r/ /Cﬁf“@ T/ Ki“?‘ T/ /@‘*@ 7~/
“Q_/jf “& /8 f> ‘<\ _&f /> ~<\ _&/ f> vgf /s j>
first secona third  fourth  fif'th

| The Ist row has

2 The 2nd
3 The 3rd
L The Lth
5 The 5th

bees.

row i"IOS

bees.

row l’\CIS

bees.

row |’1CIS

bees.

row hGS

bees.

6. Which row has the most bees”

1. Which row has the least bees?




DATA

Count. the shapes and colour in the blocks of the Sr‘oph.
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Data with insects

Count dll the dif ferent tBPeS of insects and comlo|ete
the gr‘aph

|oee ant worm 'Flld sPicler‘




/Mother‘ Pccks 66 cookies in 6 bags. How many cookies are in eqch\
bag?

. /

KA vegetoHe Sqr‘clen has 10 rows of P|qnts. Each row has 7 P|onts.\

How many P|onts are there?

\_ 4//

/Sqmue| has 3 sweets. David has 3 times more sweets than \

Samuel. How many sweets does David have? Use the number line

to Sl‘\OW BOUP answernr.

| I I I |
I I I I I

| L
| I T I O
\ 01 2 3 45 6 7 8 9 10 11 12 13 14 15 /

/Ben is |2 years old. His mother is 34 years older than him. \
How old is his mother?
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